
Flex Locator Protecting Covers

Zentrierschutzkappe

Montagedtails / Mounting DetailsD

H

M

W

Referenz-Nr.
Order No.

1489-16032P

1489-38070P

1489-25050P

1489-56095P

D

12

19

29

44

H

4

6

7

8

M

M3x0.5

M4x0.7

M5x0.8

M6x1.0

W

2

2.5

3

4

3

5

14

35

(g)

1489


